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COMMENT 

The values of R and Rsquare obtained when solved with MATLAB, manual and Excel were the 

same. The value of Rsquare is greater than 0.8 so it is valid and the values of alpha and beta are 

also valid. 

 



 

 

 

 

 

 



EXCEL WITH REGRESSION TOOL 

 

t(hr) lnd 

0 0.693147 

1 1.609438 

2 2.944439 

3 3.912023 

4 5.01728 

5 6.152733 

6 7.26892 

7 8.414496 

8 9.467769 

9 10.62437 

10 11.61747 

55 67.72209 

 

 

SUMMARY OUTPUT 

       

         Regression Statistics 

       Multiple R 0.999845 

       R Square 0.99969 

       Adjusted R 

Square 0.999655 

       Standard 

Error 0.068038 

       Observations 11 

       

         ANOVA 

        

  df SS MS F 

Significance 

F 

   Regression 1 134.2198 134.2198 28994.14 4.23E-17 

   Residual 9 0.041663 0.004629 

     Total 10 134.2615       

   

         

  Coefficients 

Standard 

Error t Stat P-value Lower 95% 

Upper 

95% 

Lower 

95.0% 

Upper 

95.0% 

Intercept 0.633465 0.038379 16.50562 4.9E-08 0.546646 0.720284 0.546646 0.720284 

X Variable 1 1.104618 0.006487 170.2767 4.23E-17 1.089943 1.119293 1.089943 1.119293 

 

alpha=exp( 0.633465) = 1.884127 

 beta= exp(1.1046) = 3.018017 

 



 

 

MATLAB 

commandwindow 
clear 
clc 
baby=xlsread('matlabexcel1') 
[xr xc] = size(baby) 
t0 = ones(xr,1); 
t1 = baby(:,1); 
d = baby(:,2); 
t =[t0 t1] 
paul = regress(d,t) 
a0 =paul(1) 
a1=paul(2) 
ysim = a0 + a1*t1 
Rvalue = corr(d,ysim) 
Rsquare = Rvalue^2 

 

baby = 

 

            0      0.69315 

            1       1.6094 

            2       2.9444 

            3        3.912 

            4       5.0173 

            5       6.1527 

            6       7.2689 

            7       8.4145 

            8       9.4678 

            9       10.624 

           10       11.617 

 

 

xr = 

 

    11 

 



 

xc = 

 

     2 

 

 

t = 

 

     1     0 

     1     1 

     1     2 

     1     3 

     1     4 

     1     5 

     1     6 

     1     7 

     1     8 

     1     9 

     1    10 

 

 

paul = 

 

      0.63347 

       1.1046 

 

 

a0 = 

 

      0.63347 

 



 

a1 = 

 

       1.1046 

 

 

ysim = 

 

      0.63347 

       1.7381 

       2.8427 

       3.9473 

       5.0519 

       6.1566 

       7.2612 

       8.3658 

       9.4704 

       10.575 

        11.68 

 

 

Rvalue = 

 

      0.99984 

 

 

Rsquare = 

      0.99969 

  

alpha=exp( 0.63347) = 1.8841 

 beta= exp(1.1046) = 3.018017 



 

 


